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√
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פתרון
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x+ c .2

´
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הצבה
´

ex

e2x+1dx = [t = ex] =
´

1
t2+1dt = arctan(t) + c = arctan(ex) + c .1

´

1
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+ c .2
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בחלקים:
´

xn ln(x), n 6= −1 = [f ′(x) = xn, g(x) = ln(x)] = xn+1

n+1 ln(x) −
´
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´

x · ln((x− 2)1/3) = [f ′ = x, g = ln((x − 2)1/3)] .2
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´
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´
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´
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´

1
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טריגונומטרי
´

cos x
3
√

sin2(x)
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´
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= 3t1/3 + c = 3(sin(x))1/3 + c .1

´ sin(x)−cos(x)
sin(x)+cos(x)dx =

´ sin(x)−cos(x)
sin(x)+cos(x) ·

sin(x)−cos(x)
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dx .2

=
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√
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2 (
√
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רציונאליות פונקציות
´

x5

x2+2dx =
´

x3 − 2x+ 4x
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´
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´
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√
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√
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= − 1
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´
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´
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´
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´
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כי ראינו בתירגול
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´
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´
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´
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=
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בהצבה נפתור
´
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´
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´
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סופית תשובה
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4



=
´

1√
1+sinh2(t)

cosh(t)dt =
´

1
cosh(t) cosh(t)dt =

´

1dt

= t = sinh−1(x)

5


